TTP 5200/5250 Kiosk Printer
Sub-system

Service Manual

55555555555

SWECIN



Related manuals

TTP 5200/5250 Getting Started (01451-000)

TTP 5100/5200/5250 Operating Instructions (01434-000)
TTP 5200/5250 Installation Manual (01436-000)

TTP 5200/5250 Technical Specification (01441-000)

TTP 5200/5250 Service Manual (101469)

This is a publication of Swecoin AB
Box 322, SE-192 30 Sollentuna, Sweden

Phone +46 8 623 45 60
Fax +46 8 594 709 89

E-mail techsupport@swecoin.se
sales@swecoin.se

Web sitehttp://www.swecoin.se

© Swecoin AB 1997, 2001

All rights reserved. Reproduction in whole or in parts is
prohibited without written consent of the copyright owner. We
have taken great care to ensure that the information in this
manual is correct and complete. However, if you discover any
errors or omissions, or if you wish to make suggestions for
improvements, you are welcome to send your comments to
us. Swecoin AB disclaims any liability resulting from the use
of this information and reserves the right to make changes
without notice.

Edition A, December 2001

Printed in Sweden

TTP 52x0 Series Kiosk Printer Sub-system — Service Manual

December 2001



Contents

1 INtrOdUCHION........ s s s s e e e s e s e s e s e e e e e e e e e e e e e e e e e e e s
1.1 Aboutthismanual............cccccoiiiiiii
1.2 UPAAtING oo
1.3 Safety precautions ...
1.4  The TTP 52X0 productS......ccccveviieiiieieeeeeeeeeee e,
2 Functional description .........cccccceiiiiiimimiiisicssss s ssse s s s ss s m s msmsmsnsnsnsnnnnn
2.1 Paper handling...........ooooiiiii e
2.2  Paper near-end deteCtion ..o
2.3  Paperjam detecCtion.........cccccoevviiiiiiiiiii
2.4 CULIING oo e e
2.5 Printhead-up detection..........cooviviiiiiiiiiiiiiiee
2.6  ElECHONICS c.cooeiiiiiiieeee e 10
2.6.1  MiCroproCesSOor SYSIEM ......coccuuiiiiiiiiieeiiiee e 10
2.6.2 StatiC RAM ..o 10
2.6.3 FIash PROM.......coooiiiiiiiiii ettt 10
2.6.4  Printing ..oeeeioie e 10
2.6.5  CULING ...eeeeeiieeeee e 10
2.6.6 Communications interface...........oooooiiiiiiii e 10
2.6.7 POWEE SUPPIY ...t 11
B T 1 - 11 41 =Y 3 = 14 o - PRSP 12
3.1 Fault fiNAING ..o 12
3.2 HEX QUMD e e 13
3.3 Parts removal and replacement.............ccooo i 14
3.3.1  Control board CONNECIOrS........coeiiiiiiiieiee e 14
3.3.2 Separating the upper and lower chassis modules ...................... 14
3.3.3 TTP 5200 control board ...........ccooeiiiiiiiiiiiieee e 14
3.3.4 TTP 5250 control board ...........cooooiiiiiiiiiiieee e 15
3.3.5 Printmodule...........oooooiii e, 16
3.3.6 Cutter Module.........ooiii e 17
3.3.7 Presenter module ... 19
3.3.8 Printhead ..., 20
S T 7= 1= o T T (= 21
4.1 Printer COMPIEte ......oooiiiii e 22
411 Final @sSembly ......oocoiiiiiiiii 22
4.1.2 PrintmoOdUIE .......uiiiiiiiiiiiiiieeeeeeteeee bbb —————————— 23
4.1.3 Presenter module...........coooiiiiiiiiiiiii e 24
4.1.4 Cutter assembly ........coooiiiiiiiii 26
4.1.5 Roll holder assembly, Standard .............ccccccoiiiiiiiiiii i 28
4.1.6 PCB coverassy. Standard .........ccccocoeiiiiiiiiii e 29
4.1.7 PCB cover assy. Closed (0ption) .........cocccceiiiiiieiiieneeiieee e 30

December 2001

TTP 52x0 Series Kiosk Printer — Service Manual



5

4.2

Drawings
51
5.2

L@ o) (o] <SS 31
421 SRUHE ... 31
4.2.2 Parallel and serial adapters.........ccccooiiiiiiii i 31
4.2.3 Roll holder assy, 200 mm (8") behind ...........ococeiiiiiinin, 32
4.2.4 Drop in roll holder assy, 150 mm (6") behind .............cccccceeeennnnn. 34
4.2.5 Roll holder Option 250mMmm (10").....ccueiiiiiiiiiiiieee e 35
.................................................................................................................. 39
RV 2T 7L o L PR 48
REVISIONS ...t 49
521 PCAREVISION E ..o 49
522 PCAREVISION F .o 49
5.2.3 PCAREVISION G ...t 50
5.2.4 Printed Circuit Board (PCB) Revision D...........ccccceeevviiiviiiennnnn. 50

TTP 52x0 Series Kiosk Printer Sub-system — Service Manual December 2001



1.1

1.2

1.3

1.4

INTRODUCTION

About this manual

This manual describes the Swecoin TTP 52x0 Series kiosk printers, their function,
maintenance instructions, spare parts, etc. For information about the TTP 5000 and
TTP 5100, please use the "TTP 5000 Series Service Manual" 00803-000.

Updating

This manual will be updated as, from time to time, printer functions and features may be
added or amended. You will always find the latest edition on our web site
(www.swecoin.se). You can order printed copies of the current manual by e-mail, fax, or
phone.

If you require functions not found in the manual edition at your disposal, you are welcome
to consult one of our representatives for information.

Safety precautions

Handling the printer in a safe way requires that you keep your fingers away from the
cutting mechanism when the power is switched ON.

The TTP 52x0 products

Two basic models are available: TTP 5200 and TTP 5250. The 5200 requires dual supply
voltage; 5V and 24V, while the 5250 only requires 24V. Apart from this the models are
exactly the same.

Each model is further divided into types representing the paper widths 60, 80, and
112 mm. Each type can also be divided into versions depending on installed options.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 3



A unique, Swecoin patented, feature of the TTP-series of printers is that they can retain
the document inside until both the printing and the cut-off operations are completed.

A number of sensors monitor the printer operation.

Refer to the applicable Technical Specification and Installation Manual for further
information on technical data, printer functions, etc.

Paper roll Paper Form-feed
support shaft release lever button

Printhead open Print module

Handle
Cutter module
Presenter module

Document
exit

Power indicators Control board

SW95018F-R2

Figure 1. Basic TTP 52x0 printer

TTP 52x0 Series Kiosk Printer — Service Manual December 2001




Holder for up to
200 mm diameter

paper rolls (optional) /\

4— Shutter
(option)

SW95018G-R2

Figure 2. TTP 52x0 Series equipped with optional large roll holder and shultter.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual




FUNCTIONAL DESCRIPTION

The printer chassis is made up of a lower module containing the printer control board and
an upper module containing the mechanical functions.

Presenter Deflection Paper Paper-feed Paper Paper-end Printhead-lifted
feed rolls ribs release motor ) guide & TOF sensor
Presenter Platen lever Print- - par sensor

Optional serial or
parallel interface
adaptor cable

Form-feed
button

sensor

EAREEY

Presenter  Control Cutting Cam Cutter Cutter-home Power sensor (actuated
motor board blade wheel motor sensor indicators  when 2-4 m remains)

SW95012C-R2

Figure 3. Printer design

The printer has three motors controlled by the control board firmware. All sensors are

reflector-type opto-sensors, except the printhead-up and cutter-home sensors that are
micro switches.

TTP 52x0 Series Kiosk Printer — Service Manual December 2001




2.1

Paper handling

The print module has a stepper-motor that drives a platen. The thermal printhead presses
against the platen with the temperature sensitive paper in-between. The platen pulls the
paper from the supply roll and feeds the paper through the cutter module and up to a
couple of feed rollers in the presenter module. The presenter motor (DC-motor) drives the
rollers.

During the printing procedure, the firmware runs the presenter motor slowly until the
presenter sensor detects the leading paper edge. The presenter feed rollers then stops
and holds the top of the document. Deflection ribs in the presenter module assist in
forming a document loop within the printer when the firmware postpones the presentation
until printing and cutting is completed. The presenter motor will then present the
document to the customer. If so selected by the application program, the presenter feed
rollers can be set at continuous feed-through during printing, for example, when very long
documents are being printed.

The presenter sensor also detects when the trailing document edge leaves the exit slot.

The combined paper-end and TOF sensor is actuated by light reflection against the back
of the paper. If the light reflection disappears, but returns within a specified number of
paper-feed motor steps, this means that a pre-printed black mark is detected. If the light
does not return before this number of motor steps has been effected, this will be
interpreted as paper end.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 7



2.2

2.3

Paper near-end detection

All Swecoin roll holders have an optical reflection sensor that becomes actuated when
there is about 3 m paper left (see Figure 3). This is the paper near end sensor.

In addition, the optional paper roll holders for larger paper rolls have an adjustable paper
level sensor (see Figure 4) that can be used, for example, to decide whether or not the
remaining paper will last during a weekend, thus called “Weekend sensor”.

The paper end & TOF sensor (reflector sensor) inhibits printing if there is no paper at all in
the printer module.

Optical paper level sensor, “weekend sensor”.
Adjustment range: 80 £20 mm

equal to approximately

30—150 m remaining paper.

Lock screw

sensor.
Activated when
2—4 m remains.

|
Optical paper-neaﬂ

SW95003A-R1

Figure 4. Paper sensor roll holder for 200-mm diameter rolls (optional)

Paper jam detection

The application program knows the length of each document. If the presenter sensor does
not detect the leading edge of a document when expected, this will be interpreted as if
paper jam has occurred. Paper jam error will also be signaled if the presenter sensor
detects paper in unexpected situations.

TTP 52x0 Series Kiosk Printer — Service Manual December 2001



2.4

2.5

Cutting

The cutter module moves the cutting blade down (cutting), and then it returns up again to
the home position. A DC-motor and a crank mechanism drive the cutter. A sensor detects
when the blade reaches the home position.

A vertical leaf spring (not shown in the above figure) aids in keeping the free end of the
movable knife blade pressed against the fixed cutting edge.

WARNING!

RISK OF INJURY! Depending on the position of the crank mechanism, the cutting knife
may start moving when the printer is switched ON. KEEP HANDS AWAY WHEN
SWITCHING ON THE PRINTER.

Printhead-up detection

Lowering the paper release lever separates the printhead from the platen and actuates
the printhead-up micro-switch sensor. This sets a status bit in the status message.
Printing is interrupted as long as the printhead is lifted.

Lowering the paper release lever is also part of the procedure for setting the printer in a
HEX dump mode for logging the data transfer between the host and the printer. See page
13.

CAUTION! — If the printer is not going to be used for a week or more, disengage the
printhead from the platen by lowering the paper release lever. Both the printhead and the
platen can otherwise be deformed.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 9



2.6

Electronics

Also see logic diagrams in Chapter 4.3.3.

261 Microprocessor system
The control board is equipped with an 80C320 microprocessor. The TTP 52x0-printers
meet the EMC directives for CE marking.

2.6.2 Static RAM
The control board has 256 Kbyte static RAM used for buffering of graphics data during
printing. It allows full landscape printing (210 mm).

2.6.3 Flash PROM
A Flash PROM on the control board holds the printer firmware, fonts, parameter settings,
etc. The flash PROM allows online downloading of its contents.

2.6.4 Printing
The control board controls the printing. It has four fonts installed, and possibility to hold
four more custom designed fonts. Each font can be printed in it's standard size, double
width, double height and quadruple size, in both portrait and landscape modes, as black
on white background or the reverse, and with or without underline.
Bar code printing is available as well as bit map graphics. Print speed and paper transport
speed is approximately 50 mm per second.

26.5 Cutting
When a cutting command is received, the control board first turns the DC-motor in one
direction to perform the cutting until the cam on the cam wheel actuates the cutter-home
sensor. This happens after one full revolution. At this moment, the motor is forced to a
quick stop by momentarily reversing the voltage to the motor.

2.6.6 Communications interface
The control board has ribbon-cable connectors for both serial and parallel interface.
Adapter cables are available so that one can use standard serial or parallel printer cables
to connect the printer to the host computer. The outer end of either cable can be attached
to the paper roll holder frame using a bracket.
SERIAL INTERFACE
Each communication parameter can be changed separately through the applicable ESC
command. Then the command ESC & 4 can be used to store the new settings as default
parameters, otherwise when the printer is switched OFF, it will return to its old default
settings.
A default parameter set-up containing several new or modified parameters can be
downloaded and permanently stored using the command ESC & 2 n1 ... n41.
See the applicable Installation Manual for further information.

10 TTP 52x0 Series Kiosk Printer — Service Manual December 2001



Communication parameters
Data transfer rate 1200 /2400 / 4800 / 9600 / 19200 /38400 /
57600 baud
Handshaking Hardware
XON / XOFF
Error reporting Silent, or ACK / NAK + error code
Parity None / Odd / Even
No. of data bits 8
No. of stop bits 1
No. of start bits 1

PARALLEL INTERFACE
The parallel interface is a Centronics-type uni-directional interface.

See the applicable Installation Manual for more details.

2.6.7 Power supply
TTP 5200 requires +24VDC 5% and +5V 5% VDC input.
TTP 5250 requires +24VDC 5% only.
Current consumption during text printing is 2 A average, and 6 A at peaks.
The consumption during all black, and dense, printing is 6 A average and 10 A at peaks.

Standby consumption is about 0.3 A.

December 2001 TTP 52x0 Series Kiosk Printer— Service Manual



3.1

MAINTENANCE

Fault finding

In connection with service of the printer system, it is good practice to clean the printer
mechanism in order to remove paper dust and lint from the paper path, cutter and sensor
areas. Paper dust, when accumulated, may interfere with printer functions such as

reflector sensors.

Do not apply oil on the cutter blades since this might smudge the paper.

The printer informs the host of some error symptoms by means of status reports and error
codes. See TTP 5200/5250 Installation Manual.

Symptom

Suggested actions

Strange paper feed
behavior.

Check that the presenter sensor is not affected by excessive
ambient light from above or through the front opening.

Printing does not stop at
paper out.

Check that the paper-out/TOF sensor is not affected by excessive
ambient light.

Nothing is printed when
you keep the form-feed
button depressed while
switching the printer ON,
but the document is
transported, cut and
ejected.

Check that the paper roll is turned with the temperature-sensitive
side facing up.

Check that the paper meets the paper specification. *)

Check that the ribbon cable connector at the top of the print
module is fully inserted.

Test document can be
produced as described
above, but the printer

works strangely in normal

operation.

Check that both ends of the data cable are properly connected.

Application program might be incorrect, for example, with respect
to handshaking. Contact system manager.

Make a HEX dump printout and check incoming data string. See
page 13.

Printing is interrupted

Check if printer is out of paper.
Check if there is any paper jam.

Check that paper dust or pieces of paper do not block the
presenter sensor.

Check function of presenter sensor.
Check that the printer is properly connected to protective earth.

This is to prevent earth currents between printer and host, but
also to prevent electro-static discharges.

) The paper specifications are available in the Technical Specifications.

12

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



3.2

Symptom

Suggested actions

Printer does not work
at all

» Check that the paper release lever is in vertical position (print
head presses against the paper).

» Check for paper jam between print module and cutter. If cutter is
not in home position, check function of cutter home switch.

* Red and green voltage indicator lamps should be ON (visible
from the rear of the printer).

If both lamps are OFF, check that the power cable is connected
at both ends and that the power supply is switched ON. Check
line-voltage-supply fuses.

If only the red lamp is OFF, replace the PCB.

No cutting

* Check that the connector for the cutter motor and the cutter home
sensor is fully seated on the control board.

Bad cutting (uneven top
and bottom document
edges)

» Switch OFF, remove any obstructing paper particles in cutter and
presenter modules.

Missing print or irregular
spots

» Paper may be too humid. Let the paper adapt to ambient
temperature and humidity for approximately 24 hours before use.

« The paper used might not meet the paper specification. *)

White longitudinal lines
in the printout

» Clean printhead with isopropyl alcohol.

* Replace print module.

Faint print

» The paper used might not meet the paper specification. *)

» Clean printhead with isopropyl alcohol.

Strange characters or
graphics printed, or any
kind of strange printer
behavior.

* Might be caused by erroneous data sent from the host. Check
validity of transferred data by using the hex dump test function
described below.

» Check setting of transmission speed and parity.

Hex dump
Use the following procedure to set the printer in HEX dump mode:

1.

Switch OFF the printer.

2. Lower the paper release lever.
3. Keep the form feed button depressed while you switch the printer ON again.
4

. Raise the paper release lever. Until you switch OFF the printer, it will present all

transferred data both in hexadecimal notation and as ASCII characters in two adjacent
columns containing 8 bytes each. The printout is formatted for 60-mm page width.

Switching the printer OFF and ON again resets it to normal operating mode.

) The paper specifications are available in the Technical Specifications.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 13



3.3

3.31

3.3.2

3.3.3

Parts removal and replacement

A WARNING!

RISK OF INJURY! Depending on the position of the crank mechanism in the cutting
module, the cutting knife may start moving when the printer is switched ON.

KEEP HANDS AWAY!

A CAUTION!

The printer power supply should be switched off, and the low-voltage power cable should
be disconnected from the control board before you disconnect or connect any other cable
on the control board. The printer electronics might otherwise be damaged.

A CAUTION!

The printhead and some components on the control board are sensitive to ESD
(electrostatic discharges). To prevent damaging such components, observe all the usual
precautions such as keeping the part in its original packing (“ESD-bag’) until you are
ready to install the part. Do not touch its pins. Use a grounded wrist strap when handling
ESD-sensitive components.

A CAUTION!

If the printer or print module is not to be used for a week or so, disengage the printhead
from the platen by lowering the paper release lever. Otherwise, both the printhead and the
platen can be deformed.

Control board connectors

Se page 40.

Separating the upper and lower chassis modules
1. Loosen the four screws joining the two chassis modules.
2. Disconnect the cables at the rear edge of the control board.

3. Lift the upper module slightly and disconnect cables as required from the connector
board so that you can place the upper module on its front panel in front of the bottom
module.

TTP 5200 control board
REMOVAL
1. Separate the upper and lower chassis modules. See Section 3.3.2 above.

2. Remove the board (4 screws).

REPLACEMENT
1. Install the board in the reverse order.

2. It may be necessary to load the correct firmware version and/or user defined default
settings after the board replacement. See TTP 5200/5250 Installation Manual for
information on how to do this.

14

TTP 52x0 Series Kiosk Printer — Service Manual December 2001



3.34

TTP 5250 control board
REMOVAL
1. Separate the upper and lower chassis modules. See Section 3.3.2 on page 14.

2. Remove the screw holding the voltage regulator U9 against the left-hand side of the
lower chassis module. TTP5250/80 manufactured 2001 and later, and all
TTP 5250/112 have an additional heatsink fitted behind the regulator.

3. Remove the board (4 screws).

REPLACEMENT

1. Install the board in the reverse order.

CAUTION! — To avoid overheating, fasten the 5V regulator firmly against the chassis
with the heatsink in-between.

2. It may be necessary to load the correct firmware version and/or user defined default

settings after the board replacement. See TTP 5200/5250 Installation Manual for
information on how to do this.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 15



3.3.5

Print module

REMOVAL

1

. Tilt the print module by pulling the green handle backwards.

2. Remove the two screws holding the print module to the hinge plate.
3. Cut the tiewrap holding the cables to the hinge plate.
4. Disconnect the ribbon cable from the printhead.
5. Loosen the lower chassis module and disconnect the motor and sensor-cables from
the control board.
6. Remove the print module.
Green Handle
rint Module
Q, SW961478
Figure 5. Loosening the print module
REPLACEMENT

1. Install the print module in the reverse order
2. Fitnew tie wraps

3. Remember to move the green handle over to the replacement print module

16

TTP 52x0 Series Kiosk Printer — Service Manual December 2001



3.3.6

Cutter module

REMOVAL
1. Separate the upper and lower chassis modules. See Section 3.3.2 on page 14.
2. Disconnect all cables from the control board.

3. With the upper chassis module standing on its front, remove the two uppermost
screws from the underside of the module.

o—1

(el e} o oo

SW96111A

Figure 6. Loosening the cutter module

4. Remove the cutter module assembly.

Lo ®

LSCreWS SW96147C

Figure 7. Lift the cutter module up after removing the screws.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 17



REPLACEMENT

1.

Install the cutter module in the reverse order. Make sure no cables are jammed
under the module. See page 40 for correct connector positions.

Check that there is a 0.2 — 0.5-mm distance at any point between the rear edge of
the presenter module and the cutting knife (you must manually turn the cutter-motor
so that the moving blade is in its lowest position when measuring). If necessary,
adjust by loosening the fixing screws of the print and cutter module assembily.

A too big distance might cause the paper running down between the cutter and the
presenter modules, and a too short distance will fold the paper in the rear edge of
the receipt.

Should the adjustment range be insufficient, also the cover plate of the presenter
module, and the presenter module position can be adjusted slightly.

=

Adjust distance!

L T~
\@V_

©

Position cutter blade

Cover plate Screws in lowest position

SW96117A

Figure 8. Adjusting the distance between presenter motor and cutting knife

18

TTP 52x0 Series Kiosk Printer — Service Manual December 2001



3.3.7 Presenter module

REMOVAL

1. Separate the upper and lower chassis modules. See Section 3.3.2 page 14.

2. Disconnect all cables from the control board.

3. With the upper chassis module standing on its front, remove the three lower screws.

[OF+) 3 m@K
P l N SW96112A-R1

Figure 9. Preparations for removing the presenter module

4. Open the cable clip at the back of the printer front. See figure below.

5. Put the upper chassis module back to normal position and remove the two upper
screws at the front of the upper chassis module.

[

®0 o®
|__ — Cableclip

@I
o[
®
.
1
(|

PRINTER FRONT

SW96113-R1

Figure 10. Loosening the presenter module

6. Remove the presenter module.

December 2001 TTP 52x0 Series Kiosk Printer— Service Manual

19




3.3.8

REPLACEMENT
1. Push the moving blade of the cutter down to its bottom position.

2. Install the presenter module in the reverse order. See page 40 for correct connector
positions.

3. Check that there is a 0.2-0.5 mm distance at any point between the rear edge of the
presenter module and the cutting knife. If necessary, adjust by loosening the fixing
screws of the print and cutter module assembly. A too big distance might cause the
paper running down between the cutter and presenter modules. See Figure 8.

Printhead

A CAUTION!

The printhead is sensitive to ESD (electrostatic discharges). Observe all the usual
precautions such as keeping the printhead in a protective “ESD-bag” until you are ready to
install the printhead. Do not touch its connector pins. Use a grounded wrist strap when
handling ESD-sensitive components.

REMOVAL FOR CLEANING

NOTE! — This can be done without removing the print module from the printer.

—_

. Verify that the paper release lever is in upright position.

1. Disconnect the ribbon cable from the printhead.

N

Loosen the springs for the printhead tilt mechanism.

w

Remove the two screws (/60 & /80) or three screws (/112) fixing the printhead. You
can reach the screws through holes in the angled plate at the top of the print module.

Screws

SW96148

Figure 11. Preparations for removing the presenter module
4. Lower the printhead release lever to horizontal position.

5. Slide the printhead gently out backwards.

REPLACEMENT

Assemble the printer in the reverse order.

20

TTP 52x0 Series Kiosk Printer — Service Manual December 2001



Screw MC6S M6x12

Allen-head screw. Thread: M6. Length: 12 mm

Screw FXS-H ST
2.9x6.5

Countersunk Screw. Self-threading. 02.9 mm. Length:
6.5 mm

Screw, RXK-H ST 2.9x8

Panhead screw, Self-threading. 02.9mm. Length:8 mm

—
-3
=

Screw RTK ST 2.9x6.5

Torx panhead screw, Self-threading. 02.9mm. Length:
6.5 mm

Nut M6M M2

Hex nut, M2 thread

© || Glelo/®|®

o F

i

4 SPARE PARTS
Items coded SP are standard spare parts.
1. Screws, washers, nuts etc. are available in a common hardware store, and are
thus not supplied as spare parts.
2. Parts that are considered as not being worn by normal printer use are not spare
parts, for example the printer chassis.
Should you require any of these "non-spare parts", contact Swecoin for advice. Other
price and delivery conditions may apply for non-coded items.
Standard hardware
Designation How to interpret the designation lllustration How to
example measure
Screw MRX-H M3x5 Panhead screw. Thread: M3. Length: 5 mm @E]
Screw MFX-H M3x6 Countersunk screw. Thread: M3. Length: 6 mm @D
Screw M6S M6x16 Hex head screw. Thread: M6. Length: 16 mm @E]
Length
) >

DO NOT OVER-TIGHTEN THE SCREWS!

The max torque for the different screw sizes are as follows:

M2 =0,13 Nm
M2.5 =0,26 Nm
M3 = 0,46 Nm
M4 =1.1 Nm

Threadlock like Locktite 243 should be used on screws that hold plastic parts, for instance
the screws for the micro-switches.

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

21




4.2

Printer complete

4.21 Final assembly
SW95004J
Part No.
Pos. | Code 60 mm 80 mm 112 mm Designation Qty. Remarks
1 SP 00483-000 00483-112 | Print mech. Support 1
2 SP 00471-000 100841 100934 Paper guide, front 1
3 09101-191 Screw MFX M2.5x6 3
4 09101-220 Screw MFX-H M3x6 3
5 SP 01486-060 | 01486-080 | 00615-112 | Shaft stop 1
6 SP 00540-060 | 00540-080 | 00540-112 | Presenter module 1 See page 24
7 SP 00419-060 | 00419-080 | 00419-112 | Cutter module 1 See page 26
8 01198-060 | 01198-080 | 01198-112 | Print module 1 See page 27
9 00805-000 Protection plate 1 Option
10 09100-219 Screw MRX-H M3x5 10
11 09100-285 Screw MRX-H M4x6 4
12 SP 01601-060 ‘ 01601-080 | 01601-112 | Roll holder assy 1 See pages 28, 32 - 35
13 01313-000 Ribbon cable clips 1
14 — ‘ — | — PCB cover assy. 1 See page 29
15 09100-285 Screw MRX-H M4x6 4
16 SP 00358-000 Cable clamp 1
17 Shutter option See page 31

22

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



4.2.2 Print module
1 2 3
9
swotots
Part No.
Pos.| Code 60 mm 80 mm 112 mm Designation Qty. Remarks
0 01198-060 | 01198-080 | 01198-112 |Print module 1
1 01093-000 - Handle 1
2 SP [01681-060| 01681-080 01681-112 |- Thermal print assy 1 See below
3 SP |01056-060| 01056-080 | 01056-112 |- Paper guide 1
4 01208-000 - Tube spacer DRM 2550x2 2
5 09100-191 - Screw MRX-H M2.5x6 2
6 SP 01086-080 01086-112 - Mounting plate 1
7 01087-000 - Tension spring 1 2 pcs on 112mm
8 09100-218 - Screw MRX-H M3x4 2
9 09010-218 - Screw RXK-H ST 2.9x4.5 2
Part No.
Pos.| Code 60 mm 80 mm 112 mm Designation Qty. Remarks
2 01681-060| 01681-080 01681-112 |Thermal print assy 1
SP 00538—O60| 00538-080 00538-112 |- Thermal print mechanism 1
00784-000 - Tie-wrap, 99%x2.5mm 3
SP 10603-000 10603-001 |- Pinthead cable assy 1

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

23



4.2.3 Presenter module

Pressure roll shaft locked
against rotation

All plastic bearing points lubricated SWos0196

24 TTP 52x0 Series Kiosk Printer — Service Manual December 2001



Part No.

Pos. |Code 60 mm 80 mm 112 mm Designation Qty. Remarks
1 SP 00540-060 | 00540-080 00540-112 |Presenter Module Assy 1
2 SP 00253-000 - Pressure roll 2
3 09002-163 - Screw MFS M2x5 2
4 00392-000 | Slotted pin, RPA 2x6 2
5 SP 01169-060 | 01169-080 | 00470-112 | Guide plate 1
6 SP 00272-060 | 00272-080 00272-112 | Wire spring, presenter 1
7 — — 09101-220 | Screw MFX-H M3x6 1
8 SP — — 00487-000  Spacer 1
9 SP 01170-060 | 01170-080 | 00473-112 | Guide plate, lower 1
10 09100-189 - Screw MRX-H M2.5x4 6
11 SP 00488-000 | 00488-000 | 00506-112 | Pressure roll shaft 1
12 SP 10618-001 - Opto sensor assy 1
13 02380-000 — - Tube spacer DRM 2240x5 2
13 — ‘ — 01332-000 | Tube spacer DRM 2550x5 2
14 09101-195 ‘ 09101-195 | 09101-168 | Screw MFX-H M2x10 2
15 09022-309 - Nut M6M M2.5 2
16 09000-190 - Screw MCS M2.5x5 2
17 09045-107 - Circlip RS 3.2 3
18 SP 00375-000 - Cog wheel 1
19 00250-000 - Hub, pin 1
20 09100-191 - Screw MRX-H M2.5x6 1
21 SP 00475-060 ‘ 00475-080 ‘ 00475-112 | Motor bracket 1
22 SP 01155-000 - Presenter motor subassy. 1
23 SP 01050-004 - Connector housing, KK 1 4-pole
24 00251-000 - Bearing, plastic 2
25 SP 00469-060 ‘ 00469-080 ‘ 00544-112 L Feed roller assy 1
26 00255-000 - Cog wheel 1

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

25



4.2.4 Cutter assembly

= Grease
" Cutter module @ = Qil
= Apply on thread:
i j 'j;f Loctite 243
Threadlocker,
= Ef‘ medium strength,
6 -fIW removable, and

oil tolerant

-Cutter motor
-assembly

f

D D D D SW95006F

e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e e . _

26 TTP 52x0 Series Kiosk Printer — Service Manual December 2001




CUTTER MODULE

Part No.

Pos. | Code 60 mm 80 mm 112 mm Designation Qty. Remarks
1 SP 00419-060 ‘ 00419-080 ‘ 00419-112 | Cutter module 1
2 09100-195 —  Screw MRX-H M2.5x10 4
3 09023-118 — Washer BRB 2.7x6x0.5 4
4 SP 00557-000 —  Compression spring 4

0.4x5x11.2
5 09023-136 — Washer BRB 4.3x8x0.8 4
6 SP 00555-001 — Hub 6.5mm 2
7 SP 00555-000 — Hub 5mm 2
8 00550-060 | 00550-080 | 00550-112 |-  Print mech. Support 1
9 SP 00556-000 —  Pressure plate 1
10 SP 00551-060 | 00551-080 | 00551-112 |— Cutter blade, moving 1
11 SP 00549-060 | 00549-080 | 00549-112 |-  Cutter support/fixed blade 1
12 09100-189 —  Screw MRX-H M2.5x4 2
13 SP 10622-001 —  Cutter motor assy 1
CUTTER MOTOR ASSEMBLY
Part No.

Pos. | Code 60 mm 80 mm 112 mm Designation Qty. Remarks
13 SP 10622-001 Cutter motor assy 1
22 SP 00570-000 —  DC motor with gearbox 1
23 00552-000 —  Motor bracket 1
24 09100-218 —  Screw MRX-H M3x4 3
25 SP 01094-000 — Cam wheel assy 1
26 00130-000 —  Tube spacer DRM 2240x12 2
27 SP 00372-000 —  Micro switch, gold plated xc3 1
27 SP 100926 —  Micro switch, with arm 1
28 09000-174 —  Screw MCS-H M2x20 2
29 SP 10622-000 —  Cutter motor cable assy 1
30 00394-000 —  Capacitor 47nF 50V 2

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

27



4.2.5 Roll holder assembly, Standard
1
2
\ 3
\\
4
—
/
/
5
SW01015
10 6—9
Part No.

Pos.| Code 60 mm 80 mm 112 mm Designation Qty. Remarks
0 SP | 01601-060 | 01601-080 | 01601-112 |Roll holder assy 1
1 SP | 00622-060 | 00622-080 | 00622-112 |_  Roll holder bracket 1
2 00688-000 —  Switch bracket 1
3 SP 10730-000 —  Feed button assy 1
4 00486-060 ‘ 00486-080 ‘ 00486-112 | paper roll shaft 1
5 09007-368 —  Screw M6S M6x16 1
6 09101-166 _  Screw MFX-H M2x8 2
7 01669-000 —  Tube spacer DRM 2240x3 | 2
8 SP 10618-001 —  Opto sensor assy 1
9 09022-307 —  Nut M6M M2 2
10 | sp 00358-000 _  Cable clamp 1

28

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



4.2.6 PCB cover assy. Standard
U
7
| )
Lt
4‘—6 SW01013
Part No.
Pos. | Code 60 mm 80 mm 112 mm  Designation Qty. Remarks
1 SP 00484-080 00484-112 | PCB cover 1
2 SP 00728-002 —  Control board TTP 5200 1
2 SP 00728-003 — Control board TTP 5250 1
2 SP 00728-006 —  Control board TTP 5250 1 With hooks
3 SP 01252-080 | 01252-080 | 01252-112 | — Heatsink 1
— — 101033 — Heatsink, Angle bracket (1) Option
4 — — 09100-197 | — Screw MRX-H M2.5x12 1
4 09100-193 — —  Screw MRX-H M2.5x8 1
5 09024-120 — Spring washer FBB 2.7 1
6 09022-309 —  Nut M6M M2.5 1
7 09100-219 —  Screw MRX-H M3x5 4

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

29



4.2.7 PCB cover assy. Closed (option)
4
4,: 12
: SW01014
9 8 7
Part No.
Pos.| Code 60 mm 80 mm 112 mm Designation Qty. Remarks

0 101131 101170 |PCB cover assy

1 09022-310 - Nut M6M M3 1
2 SP 101133 - Heatsink 1
3 SP 00728-003 - Control board TTP 5250 1
4 09100-220 - Screw MRX-H M3x6 5
5 101130 101130 ‘ 101171 |- PCB cover 1
6 09100-222 ‘ — - Screw MRX-H M3x8 1
7 09026-136 - Lock washer AZ 4.3 fzb 2
8 09100-285 - Screw MRX-H M4x6 1
9 SP 101282 - Cover plate 1
10 09100-217 - Screw MRX-H M3x3 2
11| sp — | — | 101173 - spacer 2
12 — — 09100-226 |- Screw MRX-H M3x12 1

30

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



4.3 Options
4.3.1 Shutter
2 3,4
1
SW95004K
Part No.
Pos. | Code 60 mm 80 mm 112 mm  Designation Qty. Remarks
0 01485-060 ‘ 01485-080 | 01485-112 | Shutter assy.
1 SP 00644-060 | 00644-080 | 00644-112 | — Shutter 1
2 SP 00643-060 | 00643-080 | 00643-112 | — Bracket 1
3 SP | 00645-060 | 00645-080 | 00645-112 | — Rod 1
4 — 09045-106 — CirclipRS 2.3 2
4.3.2 Parallel and serial adapters
SW01016
Part No.
Pos. |Code 60 mm 80 mm 112 mm Designation Qty. Remarks
0 — 101148 Serial adapter/switch assy. 1
0 — 100975 Parallel adapter/switch assy
1 SP 00601-000 Parallel interface adapter L=230 mm
1 SP 101274 Serial interface adapter 1 L=200 mm
1 SP 00756-000 Serial interface adapter with pin L=200 mm
4 and 7 interconnected
3 SP 100851 Connector bracket, serial 1
3 SP 01066-000 Connector bracket, parallel
4 — 09100-222 Skruv MRX-H M3x8 For 36-pole conn.
4 — 01003-000 Spacer screw 4-40 UNC/M3 2 For 9-pole D-sub
4 — 09022-310 Nut M6M 3
4 — 09024-124 Lock washer FBB 3.1

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

31



4.3.3 Roll holder assy, 200 mm (8") behind
GENERATION 1
T
I
I
I
I
I
I
I
I
I
I
10, 11
SW01021
Part No.

Pos. | Code 80 mm 112 mm Designation Qty. Remarks
1 SP 00767-080 00767-112 — Roll holder frame 1
2 00735-000 — Adjustment arm 1
3 SP 10618-001 — Opto sensor assy 1
4 101-166 — Screw MFX-H M2x8 4
5 09022-307 — Nut M6M M2 8
6 09100-220 — Screw MRX-H M3x6 2
7 SP 02250-002 — Snap lock 2
8 09101-222 — Screw MFX-H M3x8 4
9 SP 00768-080 ‘ 00768-112 — Paper roll spindle @ 39 mm 1
9 SP 01345-080 ‘ 01345-112 — Paper roll spindle @25 mm 1
10 02379-000 — Hub 1
11 09101-220 — Screw MFX-H M3x6 1
12 00358-000 — Cable clamp 2

32

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



GENERATION 2

9 10 11 12

13

SW01020
Part No.
Pos. | Code 80 mm 112 mm Designation Qty. Remarks
0 SP 01602-080 01602-112 [Roll holder assy, 200 mm (8") behind
1 SP 100823 100982 — Roll holder frame 1
2 100357 — Spacer DRM 2240x3 4
3 09022-307 — Nut M6M M2 2
4 SP 10618-001 — Opto sensor assy 1
5 01404-000 — Sensor cover 2
6 100877 — Hexagonal spacer M2x6 NV=5 4
7 100881 — Screw MFX-H 2x14 2
8 100853 101035 — RS232 adapter/switch assy 1
9 09101-220 — Screw MFX-H M3x6 1
10 09100-218 — Screw MRX-H M3x4 1
11 00515-000 — Hub 1
12 100878 — Adjustment arm assy 1
13 09100-220 — Screw MRX-H M3x6 2
14 00358-000 — Cable clamp 2
15 SP 00768-080 | 00768-112 — Paper roll shaft 239mm 1
15 SP 101069 101070 — Paper roll spindle @25 (1) Option

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual

33



4.3.4 Drop in roll holder assy, 150 mm (6") behind
1 2-4

i \ ‘ 5

)

1

| -

i f\(

1 \

1 g

! N

! ) 4 d

e 10|

' lo!

SW01022
Part No.
Pos.|Code 112 mm Designation Qty. Remarks

0 101379 Drop-in rollholder 150mm
1 01344-112 - Rollholder frame !
2 | sp 10618-001 - Opto sensor assy !
3 09101-168 - Screw MFX-H M2x10 2
4 09022-307 - Nut M6M M2 2
5 | sp 01345-112 - Paper roll spindle, 225mm !
6 | sp 02250-002 - Snap lock 2
7 09101-222 - Screw MFX-H M3x8 4
8 01067-000 - Connector bracket, right 1
9 00601-000 - Adapter Cable, Parallel, L 230mm 1
10 10730-000 !

- Feed button assy

34

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001




Roll holder Option 250mm (10")

4.3.5

SW01005

35

TTP 52x0 Series Kiosk Printer— Service Manual

December 2001



ROLL HOLDER ASSY. 250 mm (10")

SW01017

Part No.
Pos. | Code 80 mm 112 mm Designation Qty. Remarks
A SP 101042 ‘ 101047 Roll holder assy. 250mm (10") 1
1 101044 101049 — Bracket 2
2 SP 101043 101048 — Roll holder chassis 1
3 09101-219 — Screw MFX-H M3x5 3
4 09100-284 — Screw, MRX-H 4x5 fzb 6
5 SP 101069 101070 — Paper roll spindle @25 1
5 SP 00768-080 | 00768-112 | — Paper roll spindle @39 (1) |Option
6 SP 00358-000 — Cable clamp 4
7 100877 — Hexagonal spacer M2x6 NV=5 4
8 01404-000 — Sensor cover 2
9 SP 10618-003 — Opto sensor assy 2
10 09022-307 — Nut M6M M2 2
11 01669-000 — Tube spacer DRM 2240x3 4
12 100893 — Screw MFX-H M2x16 2
13 SP 100878 — Adjustment arm assy 1
14 09100-218 — Screw MRX-H M3x4 1
15 00515-000 — Hub 1
16 SP 101148 — RS232 Adapter/switch assy. 1

36

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



PAPER STRAIN RELIEF ASSY.

SW01019
Part No.
Pos. | Code 80 mm 112 mm Designation Qty. Remarks

B SP 101073 101074 Paper strain relief assy.

1 101065 101052 — Strain relief frame 1
2 SP 101064 101053 — Roller 2
3 09100-220 - Screw MRX-H M3x6 2
4 101071 101072 — Shaft 1
5 SP 101066 101054 — Tension spring, stainless 2

December 2001 TTP 52x0 Series Kiosk Printer— Service Manual



This page is intentionally left blank

38

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



5 DRAWINGS
Printer interconnections ..o Page 40
Control board 00728-XXX (SWC728) connectors and indicators ............ccccovcvveieininneenn. 41
(0] 00T o o] a1=1 01 41 F= 1Yo 11 ) SN SO PPRPRR 42
00728-002, logic diagram, sheet 1 ... 43
00728-002, logic diagram, Sheet 2 ..........oovviiiiiiiiiiiiieeeeeeeeeeeee e 45
00728-002, logic diagram, sheet 3 ... ... 47
[V Z=T =3 o] I OO PRPP PRSP 48
REVISIONS ittt e b et e e ah b e e e e aa b et e e e et e e e e s aabaeea 49

December 2001 TTP 52x0 Series Kiosk Printer— Service Manual 39



TTP 5100
TTP 5200
TTP 5250

Home
position
shown

Head
down
position
shown

+5V Gray (Red) -[1 J11 §
PRESENTER GND Blue (Black) |5 S
o
SENSOR DEL1-SENSE __Green 5 =
Q
T &
MOTOR, L +2av Red o EC
PRESENTER _| (GND) Black g
MODULE 4 7]
T e
CUT-RIGHT J5
MOTOR, ( ) Red 4™ 3
CUTTER (CUT LEFT) Black 3 @
MODULE o
K | PARALLEL
Z |INTERFACE
CUTTER HOME CUT-SENSE Brown o (Centronlcs
SENSOR P 2 J13  |type)
sa—%  GND White 1 |STROBE
1 1 19 |ACK
21 | BUSY
I 23 | PAPR OUT
991 25| sELECT
PRINT HEAD 26 |INIT
27 | AUTOFEED
28 | ERROR
33 |GND
MOTOR, Ja —_—
PRINT 36 | SELECTIN
MODULE
:[ RS232C
+5V/ Brown 1 J10 I15] rxo
EﬁE/FS"g\‘ES%R GND Red 5 4| RTS
PE-SENSE Orange 3 5| TXD
T 7| DTR
9| GND
HEAD-UP
SENSOR
a3 GND Red '2 J7
1 HEAD-UP White 1 TTP  TTP
| 5200 5250
J31 1] +sv
FORM-FEED 2| GND GND
SWITCH 3| +24v +24v
aNO SW-SENSE Yellow  [3]J8 4| +24v +24v
c GND Yellow 2 5| GND GND
Iy SW-LEDON 6| GND GND
. e - M 1 T
Opﬁ;
+5V Gray (Red) 11414
WEEKEND GND Blue (Black) |,
SENSOR
X1 Green 3
+5V Gray (Red) ;[J15
PAPER-LOW GND Blue (Black) |,
SENSOR X2 Green s
L SW96143B-R1

|

40

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



Connectors, indicators, etc. on the control board.

© )

L —u——] U] U M T :
J13 EPROM N
or
flash e
PROM
| O

J1

J10 J7 J4
L .
I L :I

J12

J1 J6
Ind. +24V-—O D5 D
red

J14 J5 @
J3 J15
Ind. +5V D6
g+ 1O @ Q O, swc-728

SW96110B

J1 RS232C interface J9 Print head
J2  Signal ground (test point) J10 TOF / paper end sensor
J3 Power, +5 VDC, +24 VDC or  J11 Presenter sensor
+24 VDC only
J4 Motor, print module J12  Not used
J5  Motor, cutter module J13 Parallel interface

cutter-home sensor

J6 Motor, presenter module J14  Weekend sensor
J7 Head-up sensor J15  Paper-low sensor
J8 Form-feed switch U4  Flash PROM

December 2001 TTP 52x0 Series Kiosk Printer— Service Manual 41



U9 is not fitted on 00728-001. J16 (2-pole power connector) is not fitted.

. . 669 zr
9pIs'dwio)  GZI0L00Z Q'A%Y 8TL-OMS 88 © 8y ™\ en] Q =0
LIS T4 P T A A" IR o — €060 4 I—| — ¢
Y] mm— PP B.__M__.E 090 ¢r 1020¥0 20 M 80~ 160 76D 999 ]
, ar
11|
:D D 69 89 7_ ﬁ e 1 b
L ~ L
=H_ ﬁ ! ! m L9
T 7y T o L F( )
:Q_H_ il ‘ CPET) HE—c
1A L._ D : o
by ey szl L 1 T o treq Lﬂ@ BE |
599 %17 0 64 5 07y <2y 5y
C 199 gy | o |en T 150 Sr e ge3REIh
299 ﬁ j ? _ o up -
199 ar —5
PO A<z o R w— —
- =t -
10 ;S 629 CLAZII 91N 0K T
R A1) — 1 n qip LINLI3GLD
o ] — T )
12y CJ| £
£y [I— |
19 £n | T
=12 L —d 1§D
gin i | T
| 6
o |
T byl |y
K| | O N qcy
_Mﬂ i2d
- =
[— A%
€49
9 A2
G¥0
999
L mn | L mn I n L mn L reY
n
W 0 " " " o " o % 9
520 20 €20 720 ) 929 620

December 2001

TTP 52x0 Series Kiosk Printer — Service Manual

42



€ 40 | d3as[ 80 zO L0OZ ‘3uva] S NmvHo
[(EE XXX=XXX ON'OM ) .
8¢L OMS
FLIN] ‘o
gy NIOJIMS - 620 8zd
ol-ir
§-Ir - - = =
g-ir = =
LA —
= ZeZX VN
8- [ O> T 2y L0z 1y - - - - = = = =
DZO@II_\ 1dooL _nu._. 2 NIk InoidrS: axy
—— o “wizi[L 513 . . . . . . . .
zr el L LnowL NILL axlt FUIN] an'o FLUNE LN Ao Ao Ao | ANt
44001 059 _ ¥ "
L - )
y-ir T +29fS seo| soo| weo| oo wo| e | @
1do0} 6¥3 |_||_ o-n |_on|_|_
T oo mo [ ¢L2 Bl
£-ir .
49001 843 cin 410 91
— — — — Nnﬂ @H
- LN ik}
L PRI
|
@ ¥IAV3IH <01 5y
H
ﬁm
o .
tma 2010 1010 12010
HBASL3D Vg HBAg13Dvd
= lous - mm» L =
0 i ]
ol ZAVES] 10| 6071 <] 90ud
5 1ve 51| 10/1 o
JIN o 9lvg | £0/1 Siv
=9 = slve o 20/1 29Ng -oar
) & = S
dsd Zav
[ ALy ALY
[ - | -2 4927 492Z]
< #M ¥ ¥ 9] 13
& &
R
8-dT8ZI8ZINH 9-d192I8TINH 2d0ZL-0L046ZHY _H_
n 90n-0zsd0gsg  |PHH TEIEE
MoblAH_ ZHYySD - -
- d 1IV1X
Segz 2 14 5
||—| V%0 AR 14) ZIVIX £
Ly 8 ; - leza
oy £1v8 i 2va i ve [0 A n
3Ly 5ive siy sive s1y give [—1
s1y civg avbL Ve sy sive [—Z suico8 = =
1y v HOLSINYIL
7 € 7 14 [Tx]
£ MK vz 5 & EN
134 (434 S13
Z ¥ Z 2 LY -
T 154 5 T 0y 4 A13-AVY3IH
o[22 oLy 1LY _ QX1-Q¥3H SrLENL
o 7] Y A\ goy[EE——Alv £L80HYL =
[ qov| 92 50V a0v| 32 [T % 70
2z 80V
Kzg—z]52 ™ = i Low ¢ i [ v L Lov ¢ o s L y1o) A
A EIA —ET—%]sa  sov 30V (n=|un_ Oclgq  sov 90V [ 00V iy 3 9a fndlnuuu £¢
N8y LA [ N TR ) SOV ¥a  ¥¥ S0y SOV ¥}y U - 13538
Mg 8eq  gov A i1 £ gov AN g N 1 gov TN T T IO T
[ v Iy g €0 o €0 €q 9T
za  zov za  zov zd  zoy £0Y 0 z i
Kea—] [ 4 z 7 70 il T Zov /20 ¢ il
¢S oy a - a1y S Mo K] i w1 e
N oo oovL 3 = oo oovHik I NE—tHoa  oovpk oy ¥ 0¥ 800 Ao
cn an ¥ Fy - n
30|
151:001% - . _ = 2011
[gro01v tero01y sov [eov |av [wv |av [ov |wv [av [gLon1v = 09 \a zq <q vq B 59| Lq
ko co I~ o0 o [~ et N IF N et [~ tn o [~ &3 o
Hed | o | - | 3 |- | o-id | e | v | 4T v-z4 | a-2d | o-2d | o-zd | 3-zd | sz | o2y | w2y | MV
+ + ¥ + + + + + + + ¥ ¥ + + + +
E s & & & & & & & & & 3 & & & &
2 oz oz 2 0z g 9z g b b 2 2 2 2 p4 p4

43

TTP 52x0 Series Kiosk Printer— Service Manual

December 2001



7L

yz4— 619

apis"dwo)  GZL0L00Z

¥J 92y

ldl

it

S

R

pin

669 zr

d'A8Y 8CL-OMS 88 o__o
FA A" I x| — mwnmg +
(O _Jgy 090 6r 1020 Im iyl
) 82 -
IREE nﬁ
|
r L]
%4 0 6 A A4S
8L | o |en {IF TR T
( [ S R
ar - —
o CS0L—1 [___1e) —
- CIIZLY LY 0y
— 17
1Zy
czy
en
LI
gin
0| |
(. n L mn | I | — L n
—" " " — " —
v20 ¥4 220 02 920

6 Q £ o@
I | E— or
€0 262 990 ]
ar
890 o)
L9
e -
g vl nmﬂ u
9] gp
B3]
1l
[4%}]
mmzﬁ I
459080
n o:D:Dom_o
C—ir €59
— €9
— %)
—/ 989
—/ i)
—/ 8¢0
—/ 6£0
— 0¥9
6240CY
B w
[
=1
— 4]
€vd
142]
(4 4]
9%
LL ey
——an 95y
= )

December 2001

TTP 52x0 Series Kiosk Printer — Service Manual

44



€ 40  taks] 80 20 L00Z uwd| ST - -
q | XXX =XXX ON'IMa = = T T
LZZOHYL \ZZOHYL ,_%NNzN
8¢L IMS ¥Mforr41—<] z3E0NLS 19 <] 1380418
av NI0JIMS we o o N I T
ov 8L ov A8l — -
sty vz L
0 2 o 7
) Y £ [0
2| an'g 97 neo = |t
Z380815-QYIH 512 1380815-QVIH 7o |
= g-cin y-€in dnaL <3 - o
q
e <] HOLSIH¥IL
LewT
ov-gir - Ad0Ly] %ELI.*S: ddosy| adoy| adacy| adocy] adosw " vin "
sc—cif) e L mT T e e ST e
ge-Ir N o¥3]  6€2[ eed] «eo[ 9€d[ s£a| #€2] e€d - %001 618 9zy
LE-EIr) T
E-gin ™ L0 a-ar py R 7] v
zg-€ln N v—0gy
z-cir Mn 001
90 ci-ar ¢ e
g-ocy a-zzy
50 ci-air — %001
= = [ I
je-cur - Ly oot Mo 55928
og-c1r) - x> LI
YZ-ELr — |_ _Iml 8-ty
zz-£Ir — ¥ 50w
o) — i I8N35-2130 [ o
L— <1 — N3S—
al-¢ir ] va u-gir O Y — Yz '
l-gLr - v—62H
Zi-€ir — 1001
al-<ir — 20 e-sr > o — dn-avan > = -
g-Cir — g-62d y-ozy
i - — %001
751 — - — 1 L
2-sur| S @ %56 © INIS-Ms [ 5 =
8-02y
0 g-ar gl o0
a-62y
ISNIS-3d [ —
00 g-air e I 50t ©
gg-air| O—1— R 0!
ge-air ISNIS-1N3 [ L7
g ¢ ¥ g 9 L g 6 al a-02y
- %001
— S ALY —
ISN3S-1130 [ o 5
ER]
490L%)  4d0Ly AGH AGE  AGH  AGH  AGE  AGH  AGH  AGH  AGH oL 3 8| L 9 ¢ ¥ g z
V-IcHE-Ied O-lS¥ O-IE¥ 3-16M J4-leM a-lgW H-IeM  I-lgw . E E E E
z1 wal - =
w7 el T
NILOI13S 9€-EIr| > T ) MG+ AGH AGH A+ ACH AGH ACH ACH AGH
wzz ¥ aee ' 1-BCHH-BE - BC - BCHI-BCHI-9CHD-BSHE-BEW - BCY
a331010Y L2-8br| O —5__F¢ 053
w2z ? oeT
= Z3SYHA-0334 < —
13SVHd—0333
d11S-0333 = =
d ¥OLON'130
4d0Ly DO 55az8 LHSIY-109
@ oG-S
001y N4 =7 L8d ar || o
LN 9Z-Er 1 T 7 351 98d 010 Sy 1z
oty a-ccu £ cad 9034
= 41 vad HO1Y1-0¥3H
¢4 cad Z39041S
¥ 28d 1380415
4k i
= T mo-0v34 > 12 it
1no-| H d INO S
001y A 90d
380815 1-SIF — o 5 cad =
\_r cey 3-£cy mwu HBASLIOTVd
oL 772 [P 79d 6l
Asng iz-ar| <& T 12 zo/c0n  mlg
srieos 1 02d 090/ lg
710 $0/1 ANOASTY
- - - - 7] Lvd § +0/1 <l OXI-avaH
TT ;N o = 8 Fivod
woiL 9| % vvd ¥1vg-QvaH ol 10/) ] 0LND4
§0u¥3 82-611 > T ._. ] s %2019-0¥ 34 eloo/t S — -0y
1351 < - H
oL 6v3 1 E)
103138 §z-¢1r| > T a3 sin
of ¢ 8 ¢ o z ¥ g
0L 72
ALdW3 ¥3dV¥d £2-C1r| > T @ E @ E S N
49001
AO¥  6L-EIr] Tt
NS+ AG+ AGH AG+ MG+ AG+ AGH AGH AGH

-V CHA-PEM - PCMH—VEN - PO - Y ERB- Y EW - PEUA-YEY

45

TTP 52x0 Series Kiosk Printer— Service Manual

December 2001



. . 659 zr
9pIS'dW0)  GZL0I00Z 'A%y BZL-OMS 85 “ 03 ) — Q @Kg
¥ 974 |41 L7¥ o €050 = I— — ¢
vy T—Ja1) B.__M__.E 092 6r 10207020 ﬁ 8~ 160 76D 990 ]
ar
T o P L welf
L _
: : ' ! m L9
~J|
L a o ()
so_H_ I _4 | OIS Py —ca
[ C g
¢1n STy L._ _H HLJ
son" Cey szl L A el LR UL I
$9) 9% 17 0 6 0%y ¢ey AR
L 199 g [ o e AT 15 S e geRr o
29 L0
199 ﬁ _ﬂ _ﬂ _ ar &9
P 7 o R w— Y —
- " Tl 111 =
19 :8 - CLAZIN 9101 e
[l s, S w— R n_J g INZOSID
3w T
123 [ TS
£y | s
19 £n —| T
=12 L —d 1§D
gn | s
| 6
| o
P 6zaocyl 0
E&L = - SX Lt _W
- =
— )
£
99 %
%
9)
L n | L mn n mn L mn L reY
Ln
Wy N " " " " o W 9
) ) ) 7 080 920 620

December 2001

TTP 52x0 Series Kiosk Printer — Service Manual

46



47

TTP 52x0 Series Kiosk Printer— Service Manual

[ uEuxm_ 80 Z0 Foowﬁia_ 'S whvag
[(EEN XXX=XXX ‘ON'IMD
87/ IMS
R ettt I e Bl
[ - = I 1 = - !
I [ . . = I
'y (42
I [ I
1 woid /90 1 1 24 o 1
| aND-A¥Z [ | | Iﬁl |
BN Sﬁ - Ni=AYZ — b ™ |
1 H = 1 62 4noy |
I [ I
| Ju0)== 893 [ n o9 I
1 [T 1 1 1
0L A FH—] = gl 1 | 73 |
1 1 1 1
I 2t o 1z sl !
' . £] 25 '
| o =)o |
| | | kAl (] z3sVHd-033L
! AVTH | | |
o .. |o9- |
s o 18n \
-l
4 S vn (7 13SVHA-033d
e . [ ZAWA LWNA DDA 1
' - - = 1 i 074 W[ 1zLg18d i
! | ! on i
' ! H _ d31S-0334
1 1z — 1
“ 40l Av0L " “ 4n'o “
' 60 Te0 ISNIS-AS ' '
: NOAII-MS) ' z0 1
| ! v ! | 1
[ I
1 I ' I 1 1
| I L] 1 | |
| I ] 1 | |
i 1 ! 1 I AVZ+ v I
! oo | D et 4
= 1 I
“ 3 swas-ziEa | ' J3AlIp JOlow pasj
I ] 1
! E 1 I 1
' Tar oaLy g I e R
ru-u-uu-u.@uwmumdumu.-w. |||||||| i eeeie it N i =
1 —
R ¢Josuss Pa__ . 10)23UU0D Jamog [puoildQ _
- ) I
! = | |
1 ! ! .
| | | 2T
1 ==~ " T T T T TS TS oo 1 -
! _ wol ! ! ! < 1HO9-10D
| - 960 ! ! = 1 !
1 3N38-1130 ! ! _ 1 !
. w 1 1 - .
! 1 AZ'T !
LT 9By ! ! Li008 . wolowra0 | ! _
BEDERNEL : v-6a Do =
1
I
............................................. | I
= = ! = . Ju01
1 1N0-avaH 1 [z POOVNL [ - —
= Lt ca | = 092
24001 —— 593 ! ! =
¥2070-0v3H ! . ' Avz+
49001 — 699 — YOLSINYIL ' 1 ' > 3SN3S-1ND
— 1 AT | 2'T
N L T il \.A |||||||||||||| ! <] 1431-102
4400, — $92 13Alip Jojow J3At13Q !
: < 1390415-aV3H "
R !
_ | _ p ! 1 !
— 1 1 1
4400} €92 ! = vt
N < Z300¥1S-a¥3IH “ “ “
- - 4uol 1 - I 1
— T £69 ! T -
= 1 Jupp 1 1
c-oir 3SN3S-3d ! 280 v
44001 292 Z-0Ir ! T-Lr [
a V1Va-a¥3H L-otr " 1=zr dn 2”:" "
34001 - 192
=S <] HOLY1-Q¥3H o%_m_ 1 [ AVCH
P ! oL

10}23UU0D pDaH

Kydwa Jadog

yo}ims dn poaH

JOAIIp JO}OW J3}}N)

December 2001



5.1

Versions

The logic diagrams and component placement shown in this manual is for the 00728-002
version of the board. Below you find an overview of the differences between these and the

other versions available.

00728-001
Corresponds to the 00728-002 logic diagram with the following exception:
* RAM capsule U5 (sheet 1, drawing pos. 2D) is not installed.

00728-002

This is the board that is on all the logic diagrams in this manual.

00728-003

Corresponds to the 00728-002 logic diagram with the following exceptions:

* 5Vdc voltage regulator U9 (sheet 3, drawing pos. 3B) is installed
» Capacitor C66 (sheet 3, drawing pos. 3A) is not installed.

00728-004

Not used in TTP 52x0 printers

00728-005

Corresponds to the 00728-003 logic diagram with the following exceptions:

Parallel and serial connector equipped with strain relieves

00728-006

Corresponds to the 00728-002 logic diagram with the following exceptions:

Parallel and serial connector equipped with strain relieves

48

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



5.2

5.21

5.2.2

Revisions

There are two revisions on a 728 board:
1. The Printed Circuit Board (PCB) revision is etched into the board.

2. The Printed Circuit Assembly (PCA) revision that is printed on the label attached to the
assembled PCB, and indicates what components are fitted.

PCA Revision E

REASON FOR CHANGE

In order to make the TTP5xx0 series compatible with the 1ISO-1284 Compatibility-mode
timing, some components on the PCB has been changed. This allows EPP or ECP mode
to be selected on the parallel port of the PC.

Some computers also had problems communicating with the printer at higher baud rates.
This has also been found to be related to component values on the PCB.

EMC testing has been performed to verify that the modifications comply with the EMC
rules.

CHANGE DESCRIPTION

The following components have been changed:

Name Old value  New value
C21 1nF 470pF
Cc27 1nF 470pF
C41-42 1nF 470pF
C43 10nF 100pF
C47-51 10nF 100pF

BACKWARD COMPATIBILITY

The new boards are fully backward compatible.

PCA Revision F

Compressed text has been experienced especially at high stepper motor temperatures.
To increase the pull force of the printer stepper motor the reverse clamping voltage of the
circuitry has been increased from 24 to 36V. This also reduces heat production in the
motor. An EMI filter has been added to the printhead data output to further decrease
radiated EMI.

CHANGE DESCRIPTION
The following components have been added:

Z1, and Z2 = BZX85/C12

December 2001

TTP 52x0 Series Kiosk Printer— Service Manual 49



5.2.3

5.24

ONOH NTMLED 2E:60 1@, 835 23

i

o v oee t\

[ ]
SWC-728 Rev.C 951206

Ad

[ J
Sold.side

PCA Revision G
REASON FOR CHANGE

When EMC testing rev. F, some additional modifications was made to increase the

margins to EMC test limits.

CHANGE DESCRIPTION

The following components have been changed:
Name Old value New value
C29 100kQ 2.2k

C30 100kQ 2.2k

Printed Circuit Board (PCB) Revision D
REASON FOR CHANGE

The manual changes of PCA Rev. F has now been incorporated in the PCB layout.

Printhead data out is now fed back to microprocessor for automatic printhead width

determination.

CHANGE DESCRIPTION

The following components have been changed 2001-01-30:
Z1=BZX85/C12 added (stepper motor).

C69=100pF, added EMI-filter on printhead data input.
Mounting holes modified (No longer plated).

BACKWARD COMPATIBILITY

The new boards are fully backward compatible.

50

TTP 52x0 Series Kiosk Printer — Service Manual

December 2001



